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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)     (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

Q. 1. What do you understand by elements of cost ?

Explain in detail.

           



Q. 2. What is an overhead ? Distinguish between allocation

and absorption of overheads ?

        

 

Q. 3. From the following particulars, you are required to

prepare a Cost Sheet :
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Particulars (`)

Productive wages 50,000

Raw materials 35,000

Administrative expenses 10,000

Direct Expenses 7,500

Light and water 2,500

Depreciation 1,500

Factory Rent 2,000

Indirect labour 25,000

Factory repairs 2,500

Selling and distribution Overhead 4,000

Sales 1,50,000

        



 (`)

  50,000

 35,000

 10,000

  7,500
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 2,500

 1,500

  2,000

  25,000

  2,500

   4,000

 1,50,000

Q. 4. From the following informations show the cost of

each three processes (A, B and C ) of manufacture.

The production of each process is passed on to the

next process immediately on completion :

Processe s

A B C

Materials 50,000 80,000 50.000

Labour 1,00,000 1,20,000 1.50.000

Factory Overhead 40,000 50,000 60.000

Furth e r Inform ations :

Production in units 38,000 38,500 40,000

Opening Stock -– 2,000 5,000

Closing stock – 500 2,500
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(,   

 





  

 50,000 80,000 50,000

 1,00,000 1,20,000 1,50,000

 40,000 50,000 60,000

 

   38,000 38,500 40,000

 -– 2,000 5,000

  – 500 2,500

Q. 5. What do you mean by break even analysis ? Describe

its importance and application ?




Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.
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 (08) 

(08)

(04) 

Q. 1. What are the purposes of Reconciliation of Cost and

Financial Accounts ?



Q. 2. What do you mean by Unit Costing ? In which

industries unit costing is applied ?

         



Q. 3. How does cost accounting help in the planning and

control of operations of a business enterprise ?

       



Q.4. Explain fully the concept of cost. Distinguish between

Direct Cost and Indirect Cost.

  



Q. 5. What points will you take into consideration in

submitting Quotation ?


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Q. 6.  Briefly state the differences between Cost Accounting

and Financial Accounting.

  



Q. 7. XYZ Ltd. manufactures a product A and provides

you the following particulars :

Cost of placing an order ` 90

Annual carrying cost per unit ` 5.20

Normal usage 50 units per week

Minimum usage 25 units per week

Maximum usage 75 units per week

Reorder period 4 to 6 weeks.

Compute the following from the above data :

(i) Reorder quantity

(ii) Reorder level

(iii) Minimum level

XYZ A 

 

 ` 90

 ` 5.20
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 50 

 25 

 75 

 4  6 



(i) 

(ii) 

(iii)  

Q. 8. A worker takes 80 hours to do a job for which the

time allowed is 100 hours. His daily rate is ` 25 per

hour. Calculate the works cost of the job under the

following methods of payment of wages and statement

of works cost :

(i) Time rate

(ii) Halsey plan

(iii) Rowan plan

Additional information :

(a) Material cost ` 120

(b) Factory overheads 125% of wages
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   80    

   100      

` 25         



(i)  

(ii) 

(iii) 

 

  ` 120

  125% 

**************


